NAME ] ASSESSMENT NO 3 ~MAY — PAGE! 2 UNIT

@u.Eénou } i~ {10 marks)

Rl in the blaak with an qppmpnq}-e
term from this list,

PERPENDICULAR,, COLLINEAR OBTUSE ,
CORRESPONDING , CO-INTERIOR , ALTERNATE,
SUPPLEMENTARY | ADJACENT , CONCURRENT,
BISECTOR , INTERSECTING , COMPLEMENTARY,
PARALLEL , ISOSCELES, EQUILATERAL , ACUTE,

@) An angle lies between,
90° and 180",

) An | +m'cu?lc has +two
€qual sides,

(c) Points thot lie on the same strajght line
are called Pomhs*,

(d)

angles add up to 180

¢) Lines that pass through a <emmon

point are called lines,
) Two lines which meer at right angles
are sald 4o be to one
another,
(g) A of an arsfc divides

the cmsle eqy aly .

a\ I
¢c

AN

h.\’;

In #he 'Fi?u.re above |

(h) Ang!es a ande are called

ang!e.s .

(c) Angles ¢ oand f are called

angles,

(j) Angles d and £ are <alled

. angies .

Question 2 - (1Omarks)

(a) Find +he sum of the interior anﬁlea
of an Od-aﬁon.,

by ¥ an. inkerior ang!e of o regodcu"
Pomon. Measures l4-4-°) how monﬂ
sides ore there for the poiggm

(<)
40°

Find the vqlue of = (3.61»103 reasens)

(d)

mo
200 Q&\

Fnd the value of = (without gf'w‘nj
reqsens)




NAME

LY
r 4

7
z, .

Find » (Siw‘ng reasons )}

Fnd x° ¢ giving reaseng)

QUESTION 8 i~ (10marks)

¢a) P Q
FQRS is o
Square, T
IF PGT « R,
s . U R

Ci) Prove that As PQT, RQU
are congryeat

ASSESSMENT NO 3 - MAY B} - PAGE 2 2 UNIT
(2) (Coni'd) (3)(a) Ci) Prove that
ST = 8d
ce)

ABCD is a rhombus ,

AD 2@ e¢m , DE £ Jem
CE 2 6em, CF l&mJBF#frm

Calewlale the vailues of
a and Lr

A
{e)
8
e
D a c
A ABC is eiufla}'cnn.l and.

has a perimerer of 307 am.,

Find.-the value of a.
CHink : Use Pythageras Thaorem)

QuesTioN 41 (6 marks)

Cay) If fex) = X*!
x~i
'ncd
ORI
cii) F("‘)
i) Flati)

Cb) Write dowa 1he natural
domain, of each of these
funcHons

N 3= 2x +
¢Gi) Y= B3 Ysx-2
("‘)d* 3=x + J x-!




SOLUTION

ASSESSMENT NOC 3 - MAY

— PAGE! 2unT

BUEsTION | i= (1O marks)

Ril in +he blank with an appropriare
term from, this list,

PERPENDIGULAR , COLLINEAR | OBTUSE ,
CORRESPONDING , CO-INTERIOR , ALTERNATE,
SUPPLEMENTARY | ADJACENT , CONCURRENT,
BISECTOR , INTERSECTING , COMPLEMENTARY,
PARALLEL , ISOSCELES, EQUILATERAL , ACUTE,

@) An 08TUSE onjlc lies behween,
90° and 180°,

Cb) An. _ISOSCELES +.-;o,gfc has t+wo
eq_uoj sides -

(e) Points that lie on the same strajght line

are calledd coLtiNEAR

Pafm“d“

) SUPPLEMENTARY J/ add +o [80°.
O.ns = wp

¢ce) Lines that pass ‘h‘?r‘ou\?h a <ommon,

Poinl' are called cONCURRENT fines,

) Two lines which meer af right angles

e sSaid 4o be PERPENDICULAR Jp ong

another,

Cg) A
the opsle eiucu!j,

BISECTOR of an a:gic divides

a ™~ Ir
d <

Y
v

eNTF

&K*

In the Fl;?uf‘e above |

Ch) Angres a ande are called

CORRESPONDING

aog!e-S.
¢ and ¥ are called

ansles .

d and £ are called

(c) Ang!es

CO - INTER 1OR,

CJ ) A'lf} les

ALTERNATE

qnjfes .

Question 2 :- (1Omarks)

(a) Fnd +the sum of the iate~ior Oﬂﬁ’é’a
of an Octagon ,
Sum = €2n-4) x 90°
= (2x8-4) %x90°
= lo8o°
¢b) If an inkerior mgfe of a r‘?odar‘
Poiggom MEeasSUres !4-4-0) how mcn:ﬁ
sides are there for the polygon 7
Sum of the exberior ‘Vﬁle" of an n-Srdect
pelygor = 360°

.., 36xn. = 360

10 sides

(<)

F:‘ndo the value of x (Siw‘ng reasens
g~ = «40° CCD"‘P‘Copondjaj Ls)
Bur x+y = 180 ( Strayghi~ line)
. ox + 40 = (80

..o =2 140

(d)

Gnd the value of x (withouwt giw'og
reasons )

x + 150 = 180

‘.o = 30

.....
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If ABC is eqguilateral, then
3047 | oy3
i e

(2) (Cont'd) (3)(a) ¢i) Prove Hok
ST = sy B¢ =

; " = Lo d]
Since PT = gu (APRTZAR b Bk ac* & at (Py#la ras

ce)
. Cl 350
, ;. Ps—~pPT = RS -AuU . The )
) o 2a
x AY N ST = SU |

1

n

Find ¢ ) . 8c = Vi a
nd = iving reasons
3J 3{ ) )y A_* 8 Ik Fl - o3 - a3
g 35 (Opp- 48 ©
”ccqf‘an"-) 10 =
x + 35 = (8o (sa‘m;é?m— Q = 10
ling )
x = 45
(f) A 8 QuesTioN 4 : (& marks )
ABCD is a rhembus Ca) If F(x) = X+t
AD 2@ em , DE =2 Jcm Find x-i
o CE = 6em, CF e 8em , BF = rem ¢ {::o) o+t
1} S a=7 -
Caleulare the values of o-1
a and j_,-'
Find »x° (3?\/:‘05 reqsens) AB = BCc = DC =@ ciy F(=1) = :-"T:%’ = 0
Drguws CE ” AR ” FG {sides of a rhombus)
- £ 8pE = 70" (Alt.Ls Asflce )| Since AF8C A FAE ati+l _ at2
then _a_ o & Gii) fla®i) = 29 T4

. LEDG =38° T3
<« =38 CAlt. Ls CE[|FG) jdo = 8(a+3)

ba = 24
a = 4
Sf‘nﬁ/arly, Cb) Write down the natural
b . 8 (Inrecept Then) domain, of each ef these
a ¢ funckons
GUESTION 3 - {i0Omarks) b .8 X2
4 6 2 ; () y =
o) P, Q p-Bx% = 53 2%+ 1
. - y Y —
PRRS Is o 2x+ 1 #F o0 y
Square. T A 2x # -1 = X# -2
A A (c)
If PRT =RQU T .
’ B (H) 3 = 3 §x-2
O Sx-2 20
R 2
: > ¢ Sxy2 & **5
(i) Prove that As PQT, RQU @
are .
congryear (i) \_‘j z 3~ % ~ |
In As PQT, RQu .
PQ:R@CS'ideScaF.siuare) D a c 3-% 3 0 and x =l 20
LBPT = 4 qRuU (Lsof o A ABC iseiuiiaimf and. -x > -3
= o .Squure) 158 21
90 has a perimerer of 3CZ em., X < 3 ancdt A2
£PRT = LRQU (Dota) Find. the value of a.
o & x £33

‘nk 1 Use Pythageras Thacrem
. A PAT = ARqU (AAS) CH ¢ e




